Unit 4
[image: ]Is our economy healthy?





Economic indicator 1: GDP

Directions: Use the reading and video below to take notes (next page) on the first economic indicator. Below are guiding questions that will help you with your next assignment. 
1. What types of activities are included in the calculation of GDP?
2. How would you describe what GDP measures about the overall economy? 

GDP (Gross Domestic Product)
The main measure of the size of a nation’s economy is its gross domestic product. GDP is an economic indicator that measures a country’s total economic output. In formal terms, gross domestic product is the market value of all final goods and services produced within a country during a given period of time. A steadily growing GDP is generally considered a sign of economic health.

This is the actual definition broken apart to help you understand:
· The market value . . . Our economy produces a vast variety of goods and services, everything from guitar lessons to computers. How can anyone add them all together to come up with a single measure of an economy's output? The Bureau of Economic Analysis does so by attaching a market value to each product. Market value is the price buyers are willing to pay for a good or service in a competitive marketplace.

· Of all final goods and services . . . GDP is based on the market price of every “final” good or service that can be legally sold in a country. A final good is any new good that is ready for use by a consumer. A box of cereal is a final good, as is a new car. Goods that are used in the production of final goods, such as the grains used to produce cereal or the steel and rubber used to manufacture cars, are known as intermediate goods. Their market value is not counted in GDP because it is already included in the market value of the final good.

· Produced within a country . . . To be included in GDP, goods and services must be produced within the country's borders. The firms that produce the goods and services do not necessarily have to be American owned. Cars manufactured in the United States by the Japanese automaker Toyota, for example, are included in this country's GDP.

· During a given period of time. The Bureau of Economic Analysis calculates GDP every quarter, or three-month period. Economists use the calendar year GDP to compare production from year to year or from country to country. This annual GDP includes all final goods and services produced between January 1 and December 31. Goods do not have to have been sold during that period to be included in GDP. For example, a kayak manufactured in 2013 but sold in 2014 would be included in the 2013 GDP.

Video: https://www.youtube.com/watch?v=1Il5IQHcYP8
GDP Notes
1. What does GDP stand for?________________________ ____________________________________ ________________________________
2. Define GDP: __________________________________________________________________________________________________________________________________________________________________________________________________________________

3. While watching the video, answer the following questions:

a. What is TOTAL MARKET VALUE?____________________________________________________________________________
__________________________________________________________________________________________________________________________________________________________________________________________________
b. What are FINAL GOODS?______________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
c. What are Intermediate goods? _______________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
d. What does PRODUCED WITHIN AN ECONOMY mean when discussing GDP?____________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________
e. What should we look at if we want to know if GDP is growing? 
Circle one: Dollar amount of GDP or Percent of GDP?
f. What is GDP Per Capita? _____________________________________________________________________________
Why is GDP Per Capita useful? ______________________________________________________________________
Reading Part 1 Questions
1. Give an example of an economic activity included in GDP, and explain why it is included. 

2. Give an example of an economic activity NOT included in the calculation of GDP, and explain why it is NOT included. 

GDP “Quiz”

1. You spend $7.00 to attend a movie. Is this included in the current calculation of GDP?


2. You buy a new Toyota made in Japan. Is this included in the current calculation of GDP?


3. A family buys a house built three years ago. Is this included in the current calculation of GDP?

Reading Part 2: How Economists Calculate GDP. 
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Economists calculate GDP using this formula:
C + I + G + NX = GDP
Household consumption, C. This component of GDP consists of goods and services bought by people in households for personal use. Household consumption ranges from food and fuel to movie tickets and medical care.
Business investment, I. This component consists largely of business investment in capital goods, such as buildings and machinery. It also includes goods produced but not yet sold.
Government purchases, G. Federal, state, and local government purchases of goods and services are also included in GDP. Economists do not count government transfer payments, such as welfare or Social Security benefits, as part of GDP. These payments do not create new production, nor do they involve the purchase of goods or services by the government.
Net exports, NX. In calculating the impact of trade on GDP, economists focus on net exports the value of all exports minus all imports. This makes sense because when a country exports goods and services, those exports bring money back home. The sale of these goods increases the exporting country’s GDP. Just the opposite happens, however, when a country imports goods and services. The money used to pay for these imports leaves the economy, thus decreasing the importing country’s GDP.
Net exports can be either positive or negative. When exports exceed imports, net exports are positive and increase GDP. When imports exceed exports, net exports are negative and decrease GDP.


Reading Part 2 Questions
3. C + I + G + Nx = GDP. This is the formula used to calculate GDP. Explain (not define) each component of the formula. 
C = 

I =

G=

Nx=


GDP Components Discussion 

Directions: All of the following are included in GDP but, which category? 

Household Consumption    Business Investment   Government Spending   Net Exports 

1. A radio produced and sold in the US by a Japanese company.


2. College Tuition


3. The production of a new car factory in Tennessee


4. Investment in a new Mars colony research project by NASA.


5. China’s economy is growing, and they demand more corn from Iowa farmers.


6. You go to dinner and a movie with your partner.





















What is a business cycle?
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The business cycle is alternating periods of rising and falling GDP. It shows the ups and downs in total output (GDP) observed over relatively short time periods—a few months to a few years. Between 1945 and 2010, the United States experienced 12 repetitions of the business cycle.

Phases of the Business Cycle
Although no two business cycles are exactly alike, they all experience the same two phases: expansion and contraction. During expansion or an expansionary phase, GDP rises. This usually brings along higher income levels. When people have more money, their demand for goods and services increases. Firms bring in more money through sales and usually hire more employees, making it easier for people to find jobs.

During contraction or a contractionary phase, GDP falls. Economic contractions make life more difficult. People have less money to spend, firms hire fewer workers or may even lay off workers, and more firms go out of business. When a contraction is severe enough to last several months or longer and have widespread negative effects on production, income, employment, and sales across an economy, it becomes a recession.  

Peaks and Troughs
The business cycle has a wave-like appearance when graphed. When an expansion is ending and the economy will proceed into a contraction, the business cycle is at a peak, shown by the highest point in each cycle on the graph. The lowest point in a cycle, where contraction ends and expansion begins, is called a trough.   In other words, expansion begins at the trough and ends at the peak. Contraction begins at the peak and ends at the trough.
Usually expansionary phases last longer than contractionary phases. Since World War II, the average contraction lasted about 11 months, while the average expansion continued for 5 years. The most recent recession (2007-2009) lasted a full 18 months and was the worst economic recession in the United States since the Great Depression.
VIDEO: https://www.youtube.com/watch?v=SYFYla1H7KE


NOTES: 






GDP and the business cycle 

Directions: Choose a country other than the United States. Go to www.cia.gov/library/the-world-factbook and find your country of choice. (Hint: Sometimes it is easier to choose a country and type it into google along with CIA World Factbook) 

Go to the Economy section and find the following: 

What is your country’s GDP-Real Growth Rate? (the dates may be different) 

2017: 

2016: 

2015: 


Which part of the business cycle is your country in according to the data you have collected? How do you know if your country is in a contraction or expansion? Use the data to support your response. 













Economic indicators and healthy data 


Reading: When evaluating economic data, it is important to know what healthy ranges of GDP, Unemployment, and Inflation are.

As far as GDP is concerned, if GDP is higher than the inflation rate and positive, it is generally considered to be healthy. Ideally economies would grow at a rate of 2-3% each year. When GDP grows too quickly, meaning there is a lot of economic activity it results in inflation. Generally speaking, GDP growth above 5% is considered too high. If GDP is in a contraction phase for 2 consecutive quarters (6 months) it is considered a recession. 8 consecutive quarters (2 years) of a contraction is considered a depression.

When considering unemployment data, a healthy unemployment rate is between 4% and 6% of people being unemployed. When unemployment is below 4% it will usually cause inflation due to the increase in money being spent because most people have jobs. When unemployment gets above 6% it will cause GDP to decrease due to many people not having a job and money to spend which drives down demand for products, eventually leading to producers decrease their production.

Inflation should never exceed GDP growth rate in 1 year. If prices increase too quickly it may contribute to economic decline. An ideal rate of inflation is 2%. We want prices to rise steadily overtime so any change between 0 and 3% is considered healthy.



Summarize:
1. How would you know if GDP is healthy?



2. How would you know if unemployment is healthy?



3. How would you know if inflation is healthy?







Economic indicator #2: Unemployment 

Directions: When completing the reading below be sure to take notes about how to best answer the following:
1. Explain the difference between employed, unemployed, and not in the labor force.  
2. Describe each of the FOUR types of Unemployment. Give an example of each.
3. [image: ]Which type of unemployment do you think is most associated with an unhealthy economy? Why? Does an economy with full employment have any of these types of unemployment? Why or why not?
NOTES: 
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Unemployment discussion 

1. Explain the difference between employed, unemployed, and not in the labor force.




2. Describe each of the FOUR types of unemployment. Give an example of each. 
















3. Which type of unemployment do you think is most associated with an unhealthy economy? Why? 









4. Does an economy with full employment have any of these types of unemployment? Why or why not? 






Unemployment “Quiz” 

Directions: For each situation, choose the correct type of unemployment. 

Cyclical            Structural             Seasonal            Frictional            Not in the Labor Force 



1. A computer programmer is laid off because of a recession 



2. A literary editor leaves her job in New York to look for a new job in San Francisco 



3. An unemployed college graduate is looking for his first job 



4. Advances in technology make the assembly-line worker’s job obsolete 



5. Slumping sales lead to the cashier being laid off



6. An individual refuses to work for minimum wage



7. A high school gradate lacks the skills necessary for a particular job 



8. Workers are laid off when the local manufacturing plant closes because the product made there isn’t selling during a recession. 





Economic indicator #3: Inflation 

Directions: As you complete the reading on this page and the next, think about the following questions
1. Describe why the three types of inflation happen:
· Creeping
· Hyperinflation 
· Deflation
 2. Why does inflation happen?
· Demand pull...
· Cost push...
2. Summarize the wage price spiral. Explain (using information from the wage price spiral) Why   did inflation occur when the Acme Truckers received a raise.
[image: ]
NOTES: 
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Reading: Creeping Inflation, Hyperinflation, and Deflation

In an ideal world, prices would be stable, neither rising nor falling over time. In our real world, prices are always changing. The result can be creeping inflation, hyperinflation, or deflation.
Creeping inflation. In the United States we have come to expect a certain amount of gradual inflation, or creeping inflation [creeping inflation: a gradual, steady rise in the price of goods and services over time], every year. Since 1913, the average annual rate of inflation has been about 3.2 percent. For much of that period, the rate has varied widely. But during your lifetime it has stayed fairly close to that average. For Americans, this is normal inflation—the level we are used to.

Hyperinflation. Occasionally inflation goes into overdrive. The result is hyperinflation. Runaway inflation creates extreme uncertainty in an economy. Nobody can predict how high prices will go, and people lose confidence in their currency as a store of value.
A number of countries have experienced hyperinflation since Germany in the 1920s. The African country of Zimbabwe is one example. Zimbabwe began its plunge into crisis in 2000, when the government seized thousands of white-owned farms. Foreign investors fled. Unemployment shot up. Food shortages became severe. The government responded to the crisis by printing money, adding trillions of Zimbabwean dollars to the money supply each year.
As the Zimbabwean dollar lost value, inflation skyrocketed. Vending machines that took coins quickly became unusable. One soda would have required the deposit of billions of coins. By early 2008, the official annual inflation rate had topped 100,000 percent. With the price of goods doubling every few days, farms and factories shut down and standards of living collapsed.

Deflation. The inflation rate is usually a positive number, meaning that the overall price level is rising. But the inflation rate can be negative, a condition that economists call deflation [deflation: a fall in the price of goods and services; the opposite of inflation]. Deflation occurs when prices go down over time.

Deflation is good news for consumers and savers. The value of every dollar they set aside now to spend later will increase over time as prices fall. Deflation is also good for lenders. The dollars they receive from borrowers tomorrow will be worth more than the dollars they lent them yesterday. This increase in the value of dollars can be painful for borrowers, however.
Deflation may also be bad news for businesses. When prices are dropping, people tend to put off spending, hoping for still lower prices later on. As consumer spending slows, businesses cut wages, lay off workers, and may even go bankrupt. The result can be a deflationary spiral, such as occurred in the early days of the Great Depression. In a deflationary spiral [deflationary spiral: a downward trend in prices, wages, and business activity; a deflationary pattern in which falling prices cause a business slow-down, which in turn leads to lower wages, a further fall in prices, and even less business activity] , falling prices lead to business slowdowns, which lead to lower wages, which lead to still lower prices, and so on.
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Inflation discussion 

1. Describe why the three types of inflation happen:
· Creeping


· Hyperinflation 


· Deflation




 2. Why does inflation happen?
· Demand pull...


· Cost push...





3. Summarize the wage price spiral. Explain (using information from the wage price spiral) Why did inflation occur when the Acme Truckers received a raise.

















Unemployment and inflation country research 

Directions: For the SAME country you researched previously, complete the following: 

Go to CIA World Factbook 

Find your country and go to the economy section 

Unemployment Rate 
2017: 

2016: 

2015: 


Inflation Rate (Consumer Prices) 
2017: 

2016: 

2015: 


Write a paragraph explaining whether the country’s economy you chose is healthy or unhealthy according to the statistics you found in your research. USE STATISTICS TO MAKE YOUR CASE. 
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What Does the Unemployment Rate Tell Us About an Economy’s Health?

Atany one time, millions of Americans may be out of work. For many of them, the experience is devastating. They struggle to pay bills and to put faod on the
table.In hard economic times, the number of peogle who are unemployed rises. When business is booming, the number falls.

The job of tracking unemployment belongs ta the Bureau of Labor Statistics. The BLS is a government agency that callects and analyzes economic data. This
gency determines the unemployment rate [unemployment rate: the percentage of the labor force that is not employed but s actively seeking work] —the
percentage of the Isbor force that is seeking work Like the GDP, the unemployment rate s 3 useful indicator of the health of an economy. In generl, 3 high
unemplayment rate means the averall health of the economy is poor.

How the Government Measures Unemployment

Every month, the BLS reports the total number of people wha were unemployed for the previous month, To arrive at his figure, the BLS does not attempt to
count everyjob sesker in the country. Instead, it conducts 2 sample survey each month. By examining a small but representative sample of the population, the

LS can gauge how many people in the entire population are unemployed.

The BLS surveys about 60,000 households each month. Household members who are eligible to be n the
Iabor force are interviewed 3bout their activities during 3 specific one-week period. The survey excludes
those who are under 16 years of aze, on active duty in the military,or in an institution such 353 prison or.
nursing home. Based on the interview data, the BLS classifies those who are elgible as employed,
unemployed, or not in the Iabor force.

Employed. Members of the abor force who have jobs are classified 25 employed. This catezory includes
beople who worked for atleast one hour for pay or profit during the survey week. It also includes those.
whoworked 15 hours o more without pay in  family-operated business. And itincludes workers who
were sick, on vacation, or otherwise excused from their jobs during the survey week.

Unemployed. Members of the labor force who are obless, but are looking for work, are classified 35
unemplayed. To be counted 3s unemployed,individuals must have actively looked for workin the four
weeks preceding the survey week They had to have inauired 3bout jobs, sent out resumes, fillsd out job
applications, or otherwise sought wark. There is an exception: people who have been aid offand are:
waiting to be called back to their jobs need not actively seek work to be counted as unemployed.

Notin the labor force. Everyone who i eligible to be in the Isbor force but i neither working nor looking for
workis classified as not in the Isbor force. This category includes full-time students a5 well 3s people who
areretired, disabled, or prevented by family responsibilities from taking a paying job.

The BLS adds together the number of employed and Unemployed people to determine the size of the labor
force. To calculate the unemployment rate, it then divides the number of unemployed people by the
numberin the labor force. The result is multiplied by 100 to express this ratio 35 3 percent, 3s shownin the
formula below.

unemployment rate = number unemployedinumber inlabor force x 100

o=

Calculating the Unemployment Rate.
The Bureau of Labor Statsis lassfies people who
ar il to partcipate i the labor orce as employed,
unemployed, o not i the labor orce.

US. Unemployment, May 2013

Notinhe
Unemgoned abortarce
(TBriln) (887 ilion)

Empioot
(133

A popivion 254 milon)

Itthen usesthesefigures o detarmine the

unemployment i

+ To calculate thesize of th labo force,add the
umberof employed workers o the number

nemployed workers.

+ Tocalculte the unemployment rte, divde the
numborof unamployod warkors by the numbor of
people i the abar force

unemployment rat- 100=76%

i
1857 million

Figure 13.3A shows how this formula applies to 3 specific example, drawn from the results of one BLS survey conducted in 2013,
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Unemployment
Unemployment means having no paying job. Econoistsideiy four types of unemloymant. The first thres —
rictona,struetural, and soasonal unemploymant—can exis van n a rowing aconomy. The fourth, cyeical
unemployment, emerges during an economic downturn.

AN

Frictional unemployment  Structural unemployment  Seasonal unemployment  Cyclical unemployment

heppens when a person  happens when advancesin  happens when businesses  happens when thereis
ks toenter the workforce technology eiminatejobs. shut down or slow downfor 8 deciinen business

or quits one job to seek partof the year. activity during an economic.

anather. downturn,

Four Types of Unemployment

Ints nterviews, the BLS gathers detaied nformation about pesple who are unemployed Based on those data 3nd further resesrch, conomiss dentify four
types of nemployment frictiona,structural seasonsl and cyclical.

Frictional unemployment. ve you sver heard someone talk sbout being "between obs' This ituatlon which exists when a person his leftone ob andis
Jookingfor another, s what economists cal rctional unemployment frctional unemployment:  type of unemployment tht results when workers are:
seeking their irstjob o have left one job and areseeking another]. it appiies to peopie iho chang jabs 3 il to people seeking their irstobs.
Frictional unemployment is usually short term asting only s long as s nesded tofind th ight job.

Consider Devin,who worked fo 2 year inthe sectronics department of reta store 3t the mal Though he sxcelled at his ob, he was unable to zet .
oromotion. 5o he quit, confdn he would b able o find a better positon at abig electrorics tore,

Frictional unemgioyment ik Devins can creste temporary hardship for thejobless person It also represents lost productionfor an employer rying tofil s
positon. However,acertain amount offrictional unemployment s unavaidable when people are fee to change jobs atwill. Changing obs, s Devincid, s
usuzlly good for the econormy because t can reallocate abor resources o their best use.

Structural unempioyment Peaple who choose to change jobs ar i ransition. Thei kil are stil i demand and th time they spend without ajob s usually
short The same cannot be sid of those who experience sructural unemployment Structural unemployment [structural unemployment:  type of
unemployment tha resultswhen the deman for certan skils declines,often because of changes in technology or ncreased foreign compefition; under
such conditions, workers may need retraining o ind new jobs] comes about malnly when advances intechnology reduce the demand for certainsklls.

Megan, for example, worked as atravel agent for 20 years. People told her where they wanted to 20, and she madeal the arrangements. She loved her job—
untlthe Internet came slong Onlinetravel services made it e2syfor pople o plan their trps themselves, The demand for Megan'sskllsdrisd up. Her job
was eliminated, and she becsme unemployec.

What can pesplelike Megan do o become employable again? They might consider returning toschool to develop new sills that employers iant or they
might b able.to adapt exstingsklls to qualfy for nawjob opporturities. Even though structural nemployment s hard o thase who experience I the
cconormy as a whole clealy benefits from the technological progress that creates .

Seasonal unempioyment.Insom arkets, demand forlabar depends onthe season. For example, Taylor warks for  small construction company n Marana,
Wintersin Montans are o cod that her comanyalmost aways closes during January and February. Fo tvo months, Tylor experiences seasonl
urermployment.Seasonal unemployment [seasonal unemployment:  type of unemployment tha results when businesses shut down or siow down or part
ofthe ear, often because of weather] occurs when businesses shut down or iaw down for art of the year,often because of westher Tourlsm, construction,
snd agriculure are among the industriesthat typically 3y people o for pat of the year.

Cyclcal unemployment. Every economy z0es through prosperous times and hard s Such cycles ofgrovith and decline ar the cause of cyclical
unemployment cyclical unemployment:a type of unemployment thatresults from a period of declinein the business cycle: unemployment caused by
contraction]. This type of unemployment occurs during periods of decline. At such times, sconamic activity slows, GDP crops, and people lose theirjobs.
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Consider Kai, who in the late 1990s worked as a Web designer for a start-up company that sold pet supplies over the Internet. Like many other Internet-based
start-ups—or dot-coms—the company had no trouble attracting investors who were convinced that doing business over the Internet was the wave of the
future. The company's stock soared in value, even though the business itself wasn't making a profit. During this period, the price of dot-com stocks rose to
dizzying heights.

Then, in 2000, the dot-com bubble burst. Investors rushed to sell off their dot-com shares, and the value of those stocks dropped dramatically. The company
that employed Kai went out of business, leaving him and his co-workers unemployed

People like Kai who experience cyclical unemployment often have trouble finding new jobs that use their skills. Few businesses hire new workers during an
economic decline. Moreover, the labor market may be glutted with equally qualified workers who are in the same situation. Many people are forced to take
jobs outside their chosen fields or live on unemployment benefits while they wait for the economy to improve.

US. Unomployment Rate, 198-2613
When an economy is healthy and growing, it experiences little cyclical unemployment.

unmmwmm e

But there will always be some frictional, seasonal, and structural unemployment. :
X
Some people will always be out of work, even in an economy with full employment. At i,
that point, all of the economy's available labor resources are being used efficiently. £, } W\‘\JV‘ J‘ \/\'\J\/‘
When an economy reaches full employment, jobs exist for everyone who wants to HIN Mot ateof
work, even though a certain percentage of those jobs and workers will not yet have &2 wnemploment
.
been matched together. Economists call this percentage the natural rate of o 0 w0 e 0 a0 w0

Year

unemployment [natural rate of unemployment: the percentage of the labor force
without work when the economy is at full employment; a condition in which the
economy is strong and there is no cyclical unemployment] . This rate has varied historically, but has generally ranged between 4 and 6 percent. Figure 13.38
shows unemployment rates over time.
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Problems with the Unemployment Rate as an Indicator of
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bovessd in determining how many of the country’s more than 315 million people are

lunemployed, the BLS makes every effort to be accurate. Still, critics point to several
lproblems that may make the results less than exact.

- he first problem is that at any one time, anumber of unemployed people have given up
looking for work. Though willing and able to work, they no longer expect to find jobs.
hese discouraged workers [discouraged workers: unemployed workers who have
ceased to look for work; discouraged workers are not considered part of the labor

force and are not factored into the unemployment rate] do not fit the BLS's definition of unemployed, which counts only those people who are making an
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effort to find work. Because discouraged workers are left out of BLS calculations, the official unemployment rate is too low.

The second problem is that the official unemployment rate does not recognize involuntary part-time workers [involuntary part-time workers: people who
settle for part-time employment because they are unable to find full-time work] . These are people who, unable to find full-time jobs, settle for part-time
employment. They work less than 35 hours per week. Others who once worked full time may have had their hours cut back. The BLS counts such part-time
workers as employed. However, some economists think these workers should be counted as partially unemployed. For example, someone who works 20 hours
aweek but wants full-time work might be counted as *half unemployed”

Athird problem with the unemployment rate involves people working in informal or underground economies. The underground economy [underground
economy: a sector of the economy based on illegal activities, such as drug dealing and unlawful gambling] is made up of people who earn income from
gambling, drug dealing, and other illegal acti

ies. When surveyed by the BLS, they would be unlikely to admit to anythingillegal. Instead, their answers would
suggest they are unemployed. The same might be true for people in the informal economy who pay no taxes on their earnings. As a result, the actual rate of
unemployment might be lower than the official rate indicates.

The Economic Costs of High Unemployment

Despite its flaws, the official unemployment rate serves as a fairly good indicator of conditions in the labor market. And in general, when the rate s high, the
overall health of the economy is poor.

The main economic cost of high unemployment is lost potential output. The smaller the number of people who are working, the fewer goods and services the
economy can generate. Potential output is lost because labor resources are not being fully utilized. An increasing unemployment rate, then, means a
decreasing real GDP.

Unemployed workers also pay a serious economic cost. They and their families lose income and the goods and services that income would have purchased.
They may become unable to pay their monthly mortgage, leading to the loss of a home. Unemployment can also mean the loss of medical benefits, which then
become an added expense.

High unemployment is also costly for society at large. Unemployed workers no longer contribute income taxes to the government. In fact, many begin taking
money from the government in the form of unemployment insurance and other benefits. This may call for shifting money from other programs to pay the
additional benefits, or it may mean raising taxes on those workers who remain employed
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Reading; What Does the Inflation Rate Reveal About an Economy’s Health?

Asecond cup of coffee that costs more than the first. A pile of money that is more valuable as fuel than as currency. These were some of the bizarre realities of

hyperinflation in post-World War | Germany.

The German experience was proof, if any was needed, that runaway inflation can send an economy into a tailspin. That is why economists keep a close eye on a

third economic indicator: the inflation rate. The inflation rate [inflation rate: the percentage increase in the average price level of goods and services from
one month or year to the next]is the percentage increase in the average price level of goods and services from one month or year to the next. It s tracked by

the same government agency that tracks the unemployment rate, the Bureau of Labor Statistics.

Tracking Inflation with the Consumer Price Index

The BLS tracks inflation by gathering information on Americans' cost of living. That s, it studies the cost of
buying the goods and services that households like yours purchase every day. As you would expect, the cost
of living changes all the time because prices do not stay the same.

Economists at the BLS track changes in the cost of living using what is known as the consumer price index. A
price index [price index: ameasure of the average change in price of a type of good over time] measures
the average change in price of a type of good over time. The consumer price index [consumer price index:
(CPl)ameasure of price changes in consumer goods and services over time; the CPI shows changes in the
cost of living from year to year] (CP1) is a price index for a “market basket" of consumer goods and services.
Changes in the average prices of these items approximate the change in the overall cost of living. For that
reason, the CPI is sometimes called the cost-of-living index [cost-of-living index: a measure of change in
the overall cost of goods and services; another term for the consumer price index] . As such, it serves as
the primary measure of inflation in the United States.

The CPI market basket is based on surveys of thousands of households about their spending habits. This
information is used to develop a detailed list of items to track. Each month, BLS data collectors visit some
25,000 retail stores and record the prices of these items.

The BLS determines the CPI by comparing each month's price information to the prices paid for the same
goods and services during a base period. As of 2013, the base period was 1982-1984. The BLS set the cost
of goods and services in its market basket during that period at 100.

Usingits monthly price data, the BLS can track the change in the CPI between any two periods. For example,
the CPI for May 2012 was 229.815, but by May 2013, the CPI had increased to 232.945. Based on those
numbers, the BLS calculates that the CPI rose 1.4 percent during that 12-month period. In other words, the
inflation rate for that one-year period was 1.4 percent.

[ corconer

The Consumer Price Index

‘The consumer price index is an indicator used to track
changes inthe prices of basic household goods and
services. Each group of items in the CPI's market basket
is given a “weight,” or percentage, that reflects how
much consumers spend on it. Average consumers
spend the largest part of their income on housing, which
includes rent or mortgage payments, property taxes,
heat, electricity, and furniture.

CPI Market Basket, 2012
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Adjusting for Inflation: Nominal vs. Real Cost of Living

You have surely heard older people complaining about how much prices have gone up since they were your age. A pair of shoes that once cost $4, for example,
cannot be had for less than $40 today. But do higher prices really mean that things cost more than they used to?

The price a person pays for a pair of shoes or any other product s its nominal cost, or ts cost in current dollars. The cost in current dollars of all the basic
goods and services that people need is the nominal cost of living [nominal cost of living: the cost in current dollars of all the basic goods and services
needed by the average consumer] . Like the nominal GDP, the nominal cost of living is based on current prices.

[ Fureraan [The real cost of living [real cost of living: the cost in constant dollars of all

fthe basic goods and services needed by the average consumer; the

‘Comparing Pesidental Wages over Time

“Tne first Congress set George Washington's salay as president atS25,000  year Two centuries and many pay hkes Inominal cost of living adjusted for inflation] is the nominal cost of basic
fatr, Prsidont Goorgo W Bush rocoived $400,000  yaar.Th ifoonco sesms snormous uil the ffcts of nfaton N , > N S
a1 takanint account, When aal wages ara comparad-—based on costant 2007 dolas-— Washingtan comes ut a5 lgoods and services, adjusted for inflation. Knowing the rate of inflation—

the

. Asafiry weahhy mar, however, Washington declined o acceptany s

lestablished by the consumer price index—allows economists to calculate
he real cost of goods and services in constant dollars. The real cost of living

Nominaland Real Presidential Wi lcan then be used to compare prices over time.

People who complain about how much prices have risen over the years are
lprobably not thinking about the other side of the coin—wages. Consumers

soumm
J lpay nominal costs with nominal wages [nominal wages: wage levels based

el L o —som (o current dollars], or wages based on current prices. As prices go up,
TH o we um W mm wm ow v ne me e @m X . e
o ages generally 80 up as well. By using the CP! to adjust for inflation,
e leconomists can calculate real wages [real wages: wage levels based on

‘constant dollars; nominal wages adjusted for inflation] and compare them
over time. Figure 13.4A, which tracks presidential salaries since 1789, illustrates the difference between nominal wages and real wages adjusted for inflation.

If wages keep pace with the cost of living, perhaps things do not really cost more than they used to. Thanks to this upward trend, the shoes once purchased for
$4 were affordable then and may be just as affordable today at $40. Looking at the cost of living in terms of time, not money, supports this conclusion. As
noted ina 1997 Federal Reserve report,

The cost of living is indeed going up—in money terms. What really matters, though, isn't what something costs in money: it's what it costs in time. Making money takes
time, so when we shop, we're really spending time. The real cost of iving isn't measured in dollars and cents but in the hours and minutes we must work to live.

So how does the cost of a $4 pair of shoes in 1958 compare to the cost of a $40 pair of shoes 50 years later? In 1958, the average wage was around $2 per
hour. In 2008, wages averaged around $20 per hour. Which pair cost more in hours worked? The two pairs cost about the same—two hours of time worked.
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Demand-Pull vs. Cost-Push Inflation

You are already familiar with one cause of inflation: an increase in the money supply. A dramatic increase in the amount of money in circulation can cause
hyperinflation. But even a more modest increase may trigger inflation if the result is too many dollars chasing too few goods.

Asecond cause of inflation is an increase in overall demand. The spending that makes up GDP comes from households, businesses, government, and foreign
buyers, Sometimes these four sectors together try to purchase more goods and services than the economy can produce. This increase in overall demand
results in demand-pull inflation [demand-pull inflation: a rise in the price of goods and services caused by an increase in overall demand]. The extra
demand by buyers exerts a “pull” on prices, forcing them up.

Inflation can also be caused by increases in the cost of the factors of production. Higher production costs reduce the economy's ability to supply the same
output at the same price level. The result is cost-push inflation [cost-push inflation: a rise in the price of goods and services caused by increases in the cost
of the factors of production] . The rising cost of land, labor, or capital “pushes” the overall price level higher.

m Cost-push inflationis often triggered by increases in energy prices. Rising

Analyzi vica Spiral fuel costs affect every link in the supply chain, from farms and factories to

-pice spialis a viciouscycla i whieh isingpricas divo up wages and then ising wages dive up rics. The the delivery of goods to retail stores. The higher costs of making and
resulis n nfltionary spiral that can b hard o break.

moving goods are then passed on to consumers in the form of higher prices.

ol S R— Whether caused by increased demand or rising costs, inflation can set offa
Sesrisepies Woges 1o sy vt

Kind of “feedback loop” known as a wage-price spiral [wage-price spiral: an
upward trend in wages and prices; an inflationary pattern in which rising
Sl prices lead to demands for higher wages, causing producers to raise
prices further and workers to demand additional wage hikes]. This spiral
starts when workers demand higher wages in order to keep up with
inflation. Employers pay the higher wages but then raise prices still higher
to cover thelr increased production costs. Higher prices for goods and
services once again decrease the real income of the workers, prompting
them to call for still higher wages. As their demands are met, wages and

Tncomr g i ot ol gds

prices keep climbing in an inflationary spiral.




image1.png
Economic policies are often fiercely debated. The government plays 3 imited, but important, role in the economy. It protects property rights, regulates the
marketplace, corrects market falures, and promotes the economic well-being of the American people. Governments and central banks use two broad policies

to keep their economies running smoothly.Fiscal policy s based on the government's powier to tax and spend. Monetary policy is based on the powier of the
Federal reserve over the money supply and interest rates.

Vs

FISCAL POLICY

MONETARY POLICY

The terms“expansionary” and “contractonary’” are used the
same way i reaton to fscl poicy as to monetary poiy. e eyl s

Contractionary
Monetary

Policy

Inthe inal unit o this course you will exam the macro side of economics by completing the following learning targets:

Learning Target #6: Use data to form a conclusion about the health of an economy according to the business cycle.
Inorder to be successful in this learning target you il need to be able to

« Identify and describe key characteristics of each economic indicator
« Categorize data s healthy and unheaithy.
« Explain how a change in one economic indicator causes a change in other economic indicators.

Forma conclusion about the phase of the business cycle according to the data and defend the choice.

Learning Target #9: Make and defend monetary and fscal policies to produce favorable economic conditions.

Inorder to be successful in this learning target you il need to be able to

Describe the positive and negative effects of expansionary and contractionary policies on each economic indicator.
* Describe the tools used in fiscal and monetary policy.

* Explain how each fiscal policy tool fixes economic problems.
« Explain how each monetary policy tool fixes economic problems.
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Economists typically calculate GDP by measuring payments on goods and services produced in a country. They divide the economy
into four sectors (parts): households, businesses, government, and foreign trade. Each sectors [parts) spending makes up one of the.
four companents of GDP: household consumption (C}, business investment (1, government purchases (G, and the net of exports
minus imports (X
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